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QUESTION 1

You are the business analyst for a large project in your organization. While your company prefers face-to-face
communications there are many stakeholders located in different geographical locations.

How can you still effectively serve as a business analyst when the stakeholders are not collocated?

A. You will need to travel on a regular rotation to each of the geographical locations to complete the business analyst
duties.

B. You will need to implement videoconferences.
C. Add more business analysts in each of the geographical location.
D. You will need the stakeholders to periodically gather in one locale.

Correct Answer: B

QUESTION 2

A business analyst (BA) finds that the solution service level agreement (SLA) cannot be met in one out of five identified
scenarios, as there is a dependency on a requirement which is a part of a future release. How should the BA approach
the solution limitation?

A. Modify the SLA

B. Change the business process

C. Increase the scope and include the dependent requirement

D. Assess the impact on the business operations

Correct Answer: C

QUESTION 3

The solution presented by a business analyst (BA) to the stakeholders eliminated the need to maintain different
variations of ship-to-country and location-to-route for various freight carriers. Instead, the routing would use a standard
carrier code, giving the business the flexibility to just ship to new countries without raising a change request to IT which
was the current road-block to business. What opportunity did the BA present to the stakeholders?

A. Increase efficiencies

B. Increase access to information

C. Decrease stakeholder involvement

D. Decrease project timeline

Correct Answer: A
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QUESTION 4

You are completing the requirements for vendor selection and need to create a procurement form that will ask the
vendor to provide only a price for commercial-off-the-shelf solution. What type of procurement form will you need to
provide to the vendor?

A. Request for proposal

B. Purchase order

C. Request for information

D. Request for quote

Correct Answer: D

QUESTION 5

Which of the following process groups occurs at the beginning of the project?
A. Executing

B. Planning

C. Initiating

D. Controlling and Monitoring

E. Closing

Correct Answer: C
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